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Iour answers are given for cach questioin. Selectthe correcton,

1) The fundamental particles of an atomarc:

(a) Elettron, positron, neutron @-ﬁlcclron. proton, neutron
(¢) Electron, neutrino,proton  (d) Electron, positron, meson
ii)  Proton was discovered by:

(a), GoldStein (b) Chadwick

(¢) Thomson (d) W.Crooks

iii) The colourofthe glow inside the discharge tube depends upon:
(a) Nature of discharge tube 9 Nature of the gas

(¢) Nature of cathode (d) Nature of anode
iv) The massofelectronisalmostequaltor.
(a) Hydrogen atom (b Proton
(c) Neutron (d) Positron
v) How manytimesthe second _o‘r'bi'l of hydrogen atom is away from!
nucleus: .
(a) Four o) &1}&) Six
(c) Nine w0 3Y (d) Sixteen
vi) Whichone of thef[bllg&%g clements is NOT radioactive:
(a) Uranium < \(\Q?(' (b) Polonium
(¢c) Radium .- X @ Germanium
vii) The propertics of elements are determines by:
(a) Atoxlnlicmass (b) Mass number
(¢) -Aromic number (d) Allofthese
vi i'i-) When 6s orbital is complete, tI}g entering electron goes into:
(a) 7s &8P 6p
"o Gk
ix) Ifnis equal to 4, then/is equal to:
(a) 0 (b) 0,1
() 0,1.2 @ 0123

y How many electrons an orbital can accommodate:
X

b
(a) 14 @) .!,0
) 6 -

(78)



